1.
If an animal cell is placed into distilled water, what happens?

a.  The cell shrinks.


b.  The cell volume stays the same.


*c.  The cell swells and lyses.


d.  The cell swells but the cell wall prevents lysis.

2.
If a plant cell is placed into seawater, what happens?


*a.  The cell shrinks.


b.  The cell volume stays the same.


c.  The cell swells and lyses.


d.  The cell swells but the cell wall prevents lysis.

3.
If a bacterium is placed into distilled water, what happens?


a.  The cell shrinks.


b.  The cell volume stays the same.


c.  The cell swells and lyses.


*d.  The cell swells but the cell wall prevents lysis.

4.
If a solution is hypertonic to a cell, which is correct?


*a.  The solution has a higher solute concentration than the cell.


b.  The solution has a lower solute concentration than the cell.


c.  The solution has the same solute concentration as the cell.

5.
If a solution is hypotonic to a cell, which is correct?


a.  The solution has a higher solute concentration than the cell.


*b.  The solution has a lower solute concentration than the cell.


c.  The solution has the same solute concentration as the cell.

6.
What would you predict about the relationship between a Euglena and distilled 


water?


a.  The distilled water is hypertonic to the Euglena.


*b.  The distilled water is hypotonic to the Euglena.


c.  The distilled water is isotonic to the Euglena.

7.
What would you predict about the relationship between a Euglena and seawater?


*a.  The salt water is hypertonic to the Euglena.


b.  The salt water is hypotonic to the Euglena.


c.  The salt water is isotonic to the Euglena.

8.
You have 4L of a salt water solution that is four times more concentrated than 


sea water (4x seawater).  For your experiment, you need to make 200 mL of 


each of the following concentrations:  




2x seawater, 1x seawater, 0.5x seawater, 0.25x seawater.


You will need how many mL of stock solution to make the 0.5x solution?


a.  12.5 mL

*b.  25 mL

c.  50 mL

d.  75 mL

e.  100 mL
9.
You have 4L of a salt water solution that is four times more concentrated than 


sea water (4x seawater).  For your experiment, you need to make 200 mL of 


each of the following concentrations:  




2x seawater, 1x seawater, 0.5x seawater, 0.25x seawater.


You will need how many mL of dH2O to make the 1x solution?


a.  100 mL


*b.  150 mL


c.  175 mL


d.  187.5 mL


e.  200 mL

10.
You have 4L of a salt water solution that is four times more concentrated than 


sea water (4x seawater).  For your experiment, you need to make 200 mL of 


each of the following concentrations:  




2x seawater, 1x seawater, 0.5x seawater, 0.25x seawater.


You will need how many mL of dH2O to make the 0.25x solution?


a.  100 mL


b.  150 mL


c.  175 mL


*d.  187.5 mL


e.  200 mL

